1. fon=2-x" |, pexez

Rym Ax (£ D+ E0 £ (34 ()

= 3(1754 14 - .25 +-2)
.25

4. fur=
vowd +o @ decinad ' placeo
«) ’R(.

X~2Staly

i)

¢

z (10.706506717)
S. 25325 3848

by M =

- z_[ 8910922003 ]

=

H.Y5S &4 GLilooz =

Y 2
22. S (R v2x-5)dy

- U (x2e2x-5)(E)

Ny Lr,

- -t 3
= 1 [+2a03h-s] ]
e Z 052

= Lim (i [ %2 2] 5
-l (B

]

ns 15

hw set 32
sectsS. 2

P 36+

, [0,3] , n=0

= $.3532%Y

= Y4.4S 846!

4T 1)

Lo (2"7' nLnHsz:) '3b n(m—ﬂ (o )
Mvmas -

= Lo~ 540 e 8lnzaZIn + an 430“ ‘o>
- e @1"3
G

.

19.

Ax (£ DF04£0%) + Li2) + (1% )+Q3))

- SEUD

(xzc.*>lx y n=t, Midping
Ax = b"‘l =1

) M(;(,i)hc(z'i)+1C(sé>+{f<"*=>)
=1] 1.¢01999229]
- ],(,077

Lim z X, SmX; Ax

n-—co (=t

- J xsmx dx
[s)

.
" (3

2

L=t X

y Lo, ]

Limn

=%

556

=

Ax LRCY + 030+ £01:26) 4 £09) 1 fe225) + Rz

28. ) (x-Hlnx) dx

= Lim

= L

. S Ax

7190 L=

A io-f _ 2

W= n n .
4 e

% X":‘\-}('«A": \+ /h

. -\
q,‘:--"”n H’q'v% T\
h-‘:w(’z"(‘* i ( \)5
* d
22. &) J. a0dx
2_ L'.-;'_ = Lf
b) S 3(.%)&&
L. 2) TET

) j. Sw)é&
L oy Seiw
= Hdr2mwen =T



33, 7 (4x-0dy
=l
2z g)z0eg)
i
=y -l= -—3/‘1
? 32
2 [ VX =R

—y
S £
1
Q-
®
n
I
W
\(’9

Hl.

S

g -
- j_z’F('*)clﬁﬂ - S_;-F(:s)

= Si ‘;Cﬁ) dx

28.

Ho.

j:,ol x-5) dx

.
QZ&/ 1 /ZL

B s

1(s8) + 3.(5-5)
25

L]

1
j,xzcosy. dx = O

-1
P2 fondx s o Foo dx - [T oo dx

> =3.6
'-IZ gS -F(.y.) Aw = V2 Sq -F‘Y-)c‘%
. |

Sq-f(v.) de = 12-3. = 8.4

43. SZ -F(‘A)clx=. 33,

[: [Z'F(%) + 33(.,_)]4$

9
=2 S: foydr+ 3 50 g0 dx

= 2‘3‘1 +3“0
= |22

9
= |
Sc g dx b



